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Introduction
Currently, there are remaining open issues on EHC packet format. In this paper, we will address the following open issues:
Open issue1: Length of CID in EHC 
Open issue2: whether and how many reserved bits are included in EHC.

[bookmark: _Ref178064866]Discussion
Length of CID in EHC
The following agreements are achieved at the latest RAN2 meeting:
Both 1-byte header and 2-bytes header is supported and the choice depends on RRC configuration (of DRB). For one DRB the header size is fixed. 
EHC header only contains Context ID field, format indication bit, and reserved bit(s) if needed. The number of reserved bit(s) are FFS
One left issue is the exact length of CID in EHC. The length of CID is different in the two different header, and larger size is applied to larger header. In RoHC design, CID is used to identify the context information among different path, and two types of CID are applied, i.e. Large CID and Short CID. Take RoHC as a reference, the details are considered in the following:
· If MAX_CID > 15, then LARGE_CIDS equals TRUE. In the case of large CID, CID range is from 0 to 16383. It means that the bit size of CID is 14 in RoHC. Accordingly, 14-bit CID is sufficient for the case of ehc-HeaderSize configured as byte2. 
· Otherwise, LARGE_CIDS equals FALSE and short CID is applied. In the case of short CID, CID range is from 0 to 15. It means that the bit size of CID is 4 in RoHC. Accordingly, 4-bit CID is sufficient for the case of ehc-HeaderSize configured as byte1. if 4-bit CID is not sufficient, the network can configure UE with 2-byte EHC header.
Observation 1 [bookmark: _Toc36799294][bookmark: _Toc36803956][bookmark: _Toc37335002][bookmark: _Toc37336103][bookmark: _Toc37410166]In RoHC, the bit size of CID is 14 if large CID applies, whereas the bit size of CID is 4 if short CID applies.
[bookmark: _Toc36799297][bookmark: _Toc36803962][bookmark: _Toc37334996][bookmark: _Toc37336107][bookmark: _Toc37410169]14-bit CID is used in 2-byte header, whereas 4-bit CID is used in 1-byte header.

Reserved bit in EHC
Regarding this open issue, two types of EHC packet are involved, one is EHC data packet, another is EHC feedback packet. Let discuss it one by one:
· EHC data packet
As we agreed, EHC header only contains Context ID field, format indication bit, and reserved bit(s) if needed. One bit is for format indication. Considering future-proof, byte alignment, and assuming 14-bit/4-bit CID being used, the number of reserved bit can be 1-bit for 2-byte EHC header and 3-bit for 1-byte EHC header. For example:


Figure 1 Example of EHC header (Left: 1-byte EHC header, Right:2-byte EHC header)
Observation 2 [bookmark: _Toc36799295][bookmark: _Toc36803957][bookmark: _Toc37335003][bookmark: _Toc37336104][bookmark: _Toc37410167]Only Context ID field, format indication bit, and reserved bit(s) are included in EHC header, and the bit size of format indication is one. 
[bookmark: _Toc36799298][bookmark: _Toc36803963][bookmark: _Toc37334997][bookmark: _Toc37336108][bookmark: _Toc37410170]1-bit reserved bit is used in 2-byte EHC header, whereas 3-bit reserved bit is used in 1-byte EHC header.
· EHC feedback packet
Up to the latest RAN2 meeting, EHC feedback is transmitted via PDCP Control PDU, and only CID filed is included in EHC feedback packet. Considering byte alignment and assuming 14-bit/4-bit CID being used, the number of reserved bit can be 2-bit for 2-byte feedback header and 4-bit for 1-byte feedback header. For example:


Figure 2 Example of EHC feedback payload 
(Left: associated to 1-byte EHC header; Right: associated to 2-byte EHC header)

Observation 3 [bookmark: _Toc36799296][bookmark: _Toc36803958][bookmark: _Toc37335004][bookmark: _Toc37336105][bookmark: _Toc37410168]EHC feedback only includes Context ID field. No other information, e.g. SN, A/N is included in feedback packet.
[bookmark: _Toc36799299][bookmark: _Toc36803964][bookmark: _Toc37334998][bookmark: _Toc37336109][bookmark: _Toc37410171]2-bit reserved bit is used in EHC feedback if large CID size applies, whereas 4-bit reserved bit is used in EHC feedback if short CID size applies.

Conclusion
We made the following observations:
Observation 1	In RoHC, the bit size of CID is 14 if large CID applies, whereas the bit size of CID is 4 if short CID applies.
Observation 2	Only Context ID field, format indication bit, and reserved bit(s) are included in EHC header, and the bit size of format indication is one.
Observation 3	EHC feedback only includes Context ID field. No other information, e.g. SN, A/N is included in feedback packet.

And propose the following:
[bookmark: _GoBack]Proposal 1	14-bit CID is used in 2-byte header, whereas 4-bit CID is used in 1-byte header.
Proposal 2	1-bit reserved bit is used in 2-byte EHC header, whereas 3-bit reserved bit is used in 1-byte EHC header.
Proposal 3	2-bit reserved bit is used in EHC feedback if large CID size applies, whereas 4-bit reserved bit is used in EHC feedback if short CID size applies.
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